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3) (3 points) Use series to write the repeated decimal 0.27 as a quotient of integers
— (fraction).
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1) (3 points c: 1(11) l'est the {‘()llnwi,,g series for convergence:
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9) Set up the in;egral that gives the yolyme obtained when the region enclosed
by y=In(z),x =¢? and y = 0 ig revolved about 1/-axis.

a) ( 3 points ) Using washers method, (Do not evaluate the integral).
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a b) (3 points’) Using cylindrical shell method, (Do not evaluate the integral).

é

gﬂ:« X (L %\ A%

e anfoo
e 25 O mohandes

6) (4 points) Use integral to find the volume of the tetrahedron \fvith three mutu- {@
ally perpendicular faces and three mutually perpendicular edges with lengths 5,12,

and 13. (Show your work).
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